Exemplar Problem with Solution :

Q)

| cosC cos B

If A+ B+ C =0, then prove that |cos C 1 cos A| = 0.

cos B cos A I

Soln:

1 cosC cos B
cos C 1 cos A
cosB cos A |

l(l—cos A) cos C(cos C—cos 4 - cos B) +cos B(cos C- cos 4 - cosB)
-sm A-cos? C+cosA-cosB- cosC+cosA cos B - cos C — cos® B
=sin* 4 — cos’B+2 cos A - cos B - cos C—cos* C .
=—cos(A+B)-cos(4- B)+2cosA cosB cos C - cos® C

[% cos® B —sin’> A = cos (4 + B) - cos (4 — B)]

=—08 (-C) - cos (4 —B)+cos C(2cos A -cos B-cos C)
=—0s C(cosA-cosB+sinA-sinB—-2cosA-cosB+cosC)
=cos C (cos 4 - cos B—sin 4 - sin B — cos ()
=cos C [cos (4 + B)—cos C]
=cos C (cos C—cos C) (As cos C=cos (4 + B))
=0



